
e
↳ (1): Say,: 2

(2) T**: Sac , :**: 3

(3) : 89, : 5

Ro - c-2y
*

+ 2xy
, Li at

Bo ) Let' FRIE : Y3+ y - 5

(2)3I : 50 - 5

(3)4I : - 5

4x : c + (3y +4)x + y - 5y + 1

y : y + (3x -5)y + (3 + 4x + 1

5 A + B = 5x + Ex
, A -B = (1 - 3x + 4x) - k+ 8x - 1)

2

= 3x - 11x + 21

60 2A + B - (4A -3B)

= - zA + 4B

=

- z(2x- 4x -5) + 4(3x - 2x +2)

= 8x + 18



Do (7) (-3xy2(2 x ( -2x2y33

=ay+
x ( 8)xy3

= -728y"

(2) (h(@

= 49h -2
-3

(3) (2x -3y)(- 45)

= - 8 ,27 + 129
,

(4)(2x + 3)(3y - 1)

= oxy - 2x + 9y - 3
,

(5) (t - 1)(t = t)

= t+

(0)(2x + 1)(3x - 4)

= 6x2 - 5x - 41

(17) ((E+ 3xy)(y2- 2xy)

= cy + 3xy - ziy - by

= - 5xy + 3x -23y



8 (7) (+2) =
x + * + 4

/

(2) (4x-39) = 16c - 24x8 + 9%

(3)(x)-3)(x+3) = x - 9 .

(4) (3a-44)(3a + 4h) = ga - 16

(5)( -4)(x - 5) = x - 9x + 201

(6)(x +4)(x -5) = c - x - 20 ,

()(=y )(x+2) = x4
- y4 ,

(8) (x) -39)(x+4y) = c + xy - 129

(9) (a - 59)(a+2h) = a- sal-10h

(10) (4x +3y)(2x +5y) = 8,2 + 26xy + 1592
,

(11) (6x -54)(3x +2y) = 182 - 3xy - 10

(12)(x - 39 +4) = c + 95 + 16 + 8x - 24y - Gay ,

(13) (2- 2x + 3) = x
P

-4 + 10 - 12x +9

(14)(+3)(x - 2) = (-9) = x4 - 18 + 81

(15) (2+4)( +z)(x -2) = (i+4)(4) = x*- 16
,

(16) (5 - 2xy +442)( +2xy +4y) = (3+49)2- 4xy2

= x* + 4x2 + 1694
,



Ro (1) male-mah = mal (m-a)

(2) za(a -3h) -
h(3h - a) = (a -3a)(2a + b)

,

(3)( -x + 1 = +(4 -4x + 1) = #(2 -1) (x -=
(4) 9a - 12ak +4 = (3a -24)

(5)9x2- 25 = (3x - 5)(3x + 5)
,

16) 182 - 32%2 = 2(3x - 42)(3x +4y)

(7)( - (y -1) = (x - y + 1)(x + y - 1)
,

(8) (2 + 2(x + 20 = ( + 1)(x + 20)
,

(9) c+ 9x + 20 = (x + 4)(x+5)
,

(10) (2 - 8x - 20 = ( + 2)(x -)
,

(11)(E +4x + 3 = (x + 1)(x + 3)
,

(12) ( + 8x - 9 = (x- 1)(x + 9)
,

(13) (2 - 1xy - 18y
=

= (x - 189)(x + y)
,

(14) 2x + 13x + 6 = (2x + 1)(x + 6)
,

(15)2x-x - 6 = (2x +3)(x - 2)

(16) 2x- Txy + by = (2x - 2y)(x - 2y)
,



Ro (11) 8-14al +3 = (4a - h)(2a -3h)
,

(18)((
P

- 3
- 28 = (-4)(+ 4)

,

(19)(CP - 16 = (2- 4(k2+4) = ( +2)( -z)(+4) ,

Do (1)= 0
.15

(2)= 0
.
i &. 15

11 33/5
33

110(2) - 1 . 24=- i-
(2)x = 0 .234534 ,

1000x - x = 234

= ·
(3) ( = 0 .153

, 145 = 5 = (150 -5)+5
= 29

1000- 18x = 146
.
48 - 1 . 46 = 145

990 = 9x11x10

i=
9x11x2 = 1841

= 180 + 18

= 198



1 Ro (1)

2) Tn ET5 : E + (- ) = a

(3) E15 : Ox =

(4)n ,15 : Ex B = 2

1 Bo

&>*

(7) To , 1552
,
7

(2) - 3
, 0

,
%

, 1552 ,
7

(3) - 3
, os 0

.
15, , No , (f) ,

7

(4) -5,

(5)

(6) 0
. 123

14 : 2 , I**PD : F - 2

150 (1) 6

(2)2 -E



160 (7) 10-12) = 120

(2) ( - x2 - (-17)) = 15 /

1To (7) # 10

(2) INo

(3)

(4)0

(5)7

(6) 7

(4) 7

(8) 7

180 (1) 25x3o = 6 .5 = 00

(
(3)o+ - 50

= 25 + 55 - 45

= 3 ,

(4)To-38 + To

= 12 - 98 + 55

= di



18 (5) (No -4)

= 500 - 4 .5

= los-20i

(6) (a)
= 7 + 2 o

,

(n)(5- 3)(5 + 3) = -4
,

(8) (455 - 25)(355+4)

= (2 .5 - 8 . 7 + (16 - 6)55

= 4 + 1055
,

↓Bols

-
RDO 87 + 700 = 3000

R1o (1) a +4 < l+ 4

(2)G -5-l -5

(3) Das 7l

(4) - -

(5) 3 -49)3-41



RRo (7) < = 5
,

6

(2)x = -2
,

3

(3)x = 3,
5

, 6

&Bo (1) 3x-2[M - T

4x 19

I
&

(2) z(x
-2)2 - 3(x+3)

5x3 - 5

111111
= -

,
- I

(3)

x- 3 + 10) 4x

- 3x3 - T

> T



RBo (4) 0
.2x - 1 . 5 < 0 .5x

2x - 15757

-3) < 15

-
xy - 5 (11)-

(5) f- (a)

(5- f(x) - M + 1

F

t
> - ((- 35-55 + 5 +5)

- Gaf -45)

x5 + 25 111.
5+25

RNO GS

CTS

[
-51x)3



240 (2) (C-123

I x + 1 -4

E n- 5

i. x < -5
/

(3)asal
[
E

+J
,

(4)(3
+233x- 8

10x -5(x- 2) > 8(x - 2) +5

E 16 + 5

Si,

in 55xd 7



R (5) 2x - 3 < 3x -2(x+4

2)- 3 (3xh - 2

(3x
-2x+ 4

Si

Si

i
.

-1 3/

(6) 5-762

5- 2)

1
2le

10 -x =4x

S
6xx + 10

So See

Si
i. x = 2 1



Ro [8Co

Ie &->
x > 18 1 &

10 &

5 100 = 80 + 16 + 4

12 ,
..

i . x = 11 , 12,

260(x) = 6

x = 16
/

RDo (1) kk6

-67x461

(2) ( / 26

x1 - 6
, 62x

/

280(3x + 11 = 5

3x + ) = - 5 =+= 15 3x+ 1 = 5

3x = - 6 Et= Lt 3x = 4

:. = -2
, 5



R9o (1) 13 -7) 8

3x -74 - 8 EE1287372 - 7

3(4 - 1 (t= 1 - 3x - 15

xc -- +(x)5·

(2)(4x + 7) = 6

- 624x + 7 = 6

- 1314x1 - 1

-


